Routers
A router is a communication device that is used to connect two logically and physically different networks, two LANs, two WANs and a LAN with WAN.  The main function of the router is to sorting and the distribution of the data packets to their destinations based on their IP addresses. Routers provides the connectivity between the enterprise businesses, ISPs and in the internet infrastructure, router is a main device.  Cisco routers are widely used in the world.  Every router has routing software, which is known as IOS.  Router operates at the network layer of the OSI model.  Router does not broadcast the data packets.
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Hubs
The central connecting device in a computer network is known as a hub.  There are two types of a hub i.e. active hub and passive hub.  Every computer is directly connected with the hub.  When data packets arrives at hub, it broadcast them to all the LAN cards in a network and the destined recipient picks them and all other computers discard the data packets.  Hub has five, eight, sixteen and more ports and one port is known as uplink port, which is used to connect with the next hub.

Switches
Like the router, a switch is an intelligent device that maps the IP address with the MAC address of the LAN card.  Unlike the hubs, a switch does not broadcast the data to all the computers, it sends the data packets only to the destined computer.  Switches are used in the LAN, MAN and WAN.  In an Ethernet network, computers are directly connected with the switch via twisted pair cables.  In a network, switches use the three methods to transmit the data i.e. store and forward, cut through and fragment free.

Modems
A modem is a communication device that is used to provide the connectivity with the internet.  Modem works in two ways i.e. modulation and demodulation. It coverts the digital data into the analog and analog to digital

LAN Cards
LAN cards or network adapters are the building blocks of a computer network. No computer can communicate without a properly installed and configured LAN card. Every LAN card is provided with a unique IP address, subnet mask, gateway and DNS (if applicable).  An UTP/STP cable connects a computer with the hub or switch.  Both ends of the cable have the RJ-45 connectors one is inserted into the LAN card and one in the hub/switch.  LAN cards are inserted into the expansion slots inside the computer.  Different LAN cards support different speed from 10/100 to 10/1000.

Bridges

Bridge is an internetworking device used to help conserve the bandwidth on the network. When LANs are really starting to grow, network data traffic begins to become a little overwhelming to the available bandwidth on the network media. 
One way of conserving this network traffic is to slice the network up into smaller segments. These segments are connected to a bridge.

A bridge is a network communication device that is used to connect one segment of the network with another that uses the same protocol.  It operates at the Data link layer of the OSI layers model. In the bridged network, the messages are sent to all the nodes and are picked up only by the destined computers. 
Network Cables

There are two basic mediums of connecting the computers with each other wired and wireless.  Wireless mediums are radio waves, Bluetooth, electromagnetic waves and Infrared.  The wired communication mediums are coaxial cable, twisted pair UTP/STP cable and fiber optic cables. 
In the Ethernet network every computer is connected with the hub or switch through the UTP/STP or fiber optic cable. Following are some of the most common types of the computer networking cables.

Ethernet Cross Over Cable:  A Cross Over cable is a networking cable that is used to connect two computers without hub or switch.
Coaxial Cable (Thin net)
Thin coaxial cable is copper cable that is used in the Bus topology.  It is based on the 803.2a standard of the IEEE. It is also known as Thinnet and 10Base2.  It supports the maximum segment length of 185 meters.

Twisted Pair Cable (Thick net):  There are two types of the twisted pair cables such as UTP and STP.  UTP stands for unshielded twisted pair and STP for Shielded twisted pair.  Twisted Pair cable is also known as 10BaseT.  It is mostly used in the Star Topology and it supports the maximum length up to 100 meters. RJ45 connectors are used at both end of the cable.  

One end is inserted in the LAN card of the PC and other end is inserted in the hub or switch.  UTP/STP is the least expensive communication medium in the Ethernet network.  UTP is prone to the electrical interference than the other type of the communication cables.

Fiber Optic Cable:  Another cable type is the fiber optic cable.  It is also known as the 10BaseFL. It supports maximum length of the segment up to 2000 meters. 
 The SC/ST connectors are used with the 10BaseFL cables.  Fiber Optic cable is the fastest communication medium in the Ethernet network.  10BaseFL is used in the gigabyte Ethernet.

Repeaters
A repeater is a communication device that retransmits the weak signals with greater power.  It receives the signals over the wireless, optical transmission and network cable mediums such as copper wire, UTP/STP and fiber optic cables and regenerates the analog or digital signals.  It can relay the data signals between the different subnetworks.  Repeaters are also used in the broadcasting, where they are known as the relay transmitters and boosters.   Repeaters restrengthen the data signals in the telecommunications.  
Repeaters take the signal that it receives from the computers and other devices on the LAN and regenerates the signal in order for the signal to maintain its integrity while traveling along a longer media run that is normally possible. The problem with repeaters is that they amplify the entire signal that they receive, including any line noise.
GATEWAYS

Gateways are devices which connect two are more networks that use different protocols.

A gateway can actually convert data so that network with an application on a computers on the other side of the gateway e.g a get way can receive email messages in one format in convert them into another format. Gateway can operate at all seven layer of OSI model. Since Gateway perform data conversion so they are slower in speed and very expensive devices.
